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I Choose the correct option: [1x5=5]
i. 67.029= (in words)
(A) Sixtry-seven point twenty-nine (B) Six seven zero two nine
(C) Sixty-seven point zero two nine (D) Sixty-seven thousand twenty-nine

ii. The place value of 5in 346.058 is

(A) 5 (B) 125 (©) To5s (D) 50
iii. %= (decimal form)

(A) 0.064 (B)% (C) 8.125 (D) 0.008
iv. 1.5x0.8=

(A) 1.20 (B) 12.0 (C) 120.0 (D) 0.120

v. Express as fractions: 16.04 =

4 1604 04 1
(A) 16— (B) oo (C) 16— (D) 16
1. Fill in the blanks: [1x5=5]
a) Decimals having the same number of decimal places are called decimals.
b) Six point two three six = (infigure)
c) 0.008 x 100 =
d) Express as fraction: 0.35=
e) 10+3+ A
10 100
ll.  Case Study: [5]

There was a huge garden near Amita’s house. She wanted to water the plants. She checked the
bucket which has only 5.500 litres of water. She gives 1.750 litres to her succulent, 1.200 litres
to the flowers in the garden, and 0.780 litres to cactus plants and rest to the mango trees.

Now answer these:



How much water is left to water mango trees?

Compare the quantity of water given to the succulent and the flowers.

Find the difference between the water used for mango trees and the cactus.
Which plant is watered with least quantity of water?

Arrange all the quantities of water used to water the plants in ascending order.

V. Do as directed: [2x5=10]
a) Arrange in ascending order: 437,3.47,4.73,3.74,4.7,3.4
b) Compareand put<,>or=: 3.450 354
c) Add the following: 5.936 + 12.64 + 234
d) Take away 71.48 from 200

e)

Find the product:  234.56 x 75
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